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Calculus Practice: Techniques for Finding Antiderivatives 12a

Evaluate each indefinite integral. Use the provided substitution.

1) f—lOcsc 2Xcot 2Xcos (csc 2X) dx; u=csc 2x

A) Ssec (csc 2X) +C
B) Ssin (csc 2X) +C
C) Scot (csc 2X) +C
D) 5cos (csc 2x) +C

3) f3sec 3xtan 3xsec? (sec 3X) dx; u=sec 3x

A) cot (sec 3X) +C
B) cos (sec 3X) +C
C) tan (sec 3X) +C
D) sin (sec 3X) +C

5) f—6cos 2Xcos (sin 2X) dx; u=sin2x

A) —3csc (sin 2X) +C
B) —3cot (sin 2x) +C
C) —3sin (sin 2x) + C
D) —3tan (sin 2X) +C

7) f—Zcos —2Xsec (sin —2X) dx; u=sin-2x

A) sec (sin —2X) +C

B) csc (sin —2x) +C

C) In |sec (sin —ZX)( +C

D) In |sec (sin —2X) + tan (sin —2X)| +C

2) f—9cos 3Xcsc? (sin 3X) dx; u=sin 3X

A) 3cot (sin 3x) + C
B) 3tan (sin 3X) +C
C) 3sin (sin 3X) +C
D) 3sec (sin 3x) +C

4) fZOSin —4xsin (cos —4X) dx; U= cos —4x

A) —5csc (cos —4x) +C
B) —5tan (cos —4X) +C
C) —5sec (cos —4X) +C
D) —5cos (cos —4X) +C

6) f6sec 2Xtan 2Xcsc (sec 2X) dx; u=sec 2x

A) 3In |sec (sec 2X) + tan (sec 2X)‘ +C
B) 3In (csc (sec 2X) — cot (sec 2X)| +C
C) 3sin (sec 2X) +C
D) 3sec (sec 2X) +C

8) f—lSsecz 5xtan (tan SX) dx; u=tan 5x

A) —3tan (tan SX) +C

B) —3csc (tan SX) +C

C) -3In ‘sec (tan SX) + tan (tan 5X)| +C
D) -3In |sec (tan 5X)| +C

9) f—lScch —3xtan (cot —3x) dx; U= cot —3X 10) f—6csc2 —2Xcsc (cot —2X) dx; u=cot—-2x
A) —5In ‘sec (cot -3 X)| +C A) -3In |csc (cot —2X) — cot (cot —2X)| +C
B) —5cot (cot -3 X) +C B) —3sin (cot —2X) +C
C) —5In |sin (cot —3X)‘ +C C) 3In ‘sec (cot —2X) + tan (cot —2X)| +C

D) —5In (sec (cot -3 x) + tan (cot —3x)| +C D) —3cot (cot —2X) +C
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dx; u=csc—-2x

3cos —3xsin (sin —3x
11) f— cos ~3xsin (sin )dx; U = sin —3X

s 12) f_ 2csc —2xcot —2X
cos (sm —3x)

sin’ (csc —2X)

A) sin (sm 3X) +C A) tan (csc —2X) +C
B) sec (s1n 3X) B) csc (csc 2X)
C) csc (sm 3X) C) cos (csc 2X) C
D) tan (sm 3X) D) cot (csc —2X) +C
13) f— 10sec —Sxtan ~5x dx; u=sec —5x 14) f—w dx; u=csc—Xx
sin® (sec -5 X) sin® (csc —X)
A) —2cot (sec —5X) +C A) Ssec (csc —X) +C
B) —2cos (scc —SX) +C B) Scsc (csc —X) +C
C) —2sec (sec -5 X) +C C) Stan (csc —X) +
D) —2sin (sec —5X) +C D) 5Scot (csc —X) +
2 2
15) fde; U= cot —X 16) f—de; U= cot 4x
sec (cot —X) sin (cot 4X)
A) Ssec (cot —X) +C A) sec (cot 4X) +C
B) Stan (cot —x) +C B) In |csc (cot 4X) — cot (cot 4X)| +C
C) 5cos (cot —x) +C C) In |sin (cot 4X)| +C
D) Ssin (cot —X) +C D) sin (cot 4X) +C
2 — p— J—
17) f—M dx; u=cot-2x 18 f— Osec —2xtan =2 dx; u=sec —2x
cos (cot —2X) cos (sec —2X)
A) —5sin (cot —2X) +C A) 3In |sin (scc —2X)| +C
B) —51In |sec (cot —2X) + tan (cot —2X)| +C B) 31In |sec (sec —2X) + tan (sec —2X)| +C
C) —5csc (cot —2X) +C C) 3In (sec (sec —2X)| +C
D) —5tan (cot —2X) +C D) 3sin (sec —2X) +C
19 ,(M dx; u=-cscx 20 f— 3sec —3Xtan —3X dx; u=sec —3x
sin (csc X) sin (sec -3 X)
A) —2sec (csc X) +C A) csc (sec -3 X) +C
B) —2In |csc (csc X) — cot (csc X)( +C B) In |csc (sec —3X) — cot (sec —3X)( +C
C) 2In |sec (csc X) + tan (csc X)( +C C) sin (scc -3 x) +C
D) —2In (sec (csc X)| +C D) In (sin (sec —3X)| +C
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Calculus Practice: Techniques for Finding Antiderivatives 12a

Evaluate each indefinite integral. Use the provided substitution.

1) f—lOcsc 2Xcot 2Xcos (csc 2X) dx; u=csc 2x 2) f—9cos 3Xcsc? (sin 3X) dx; u=sin 3X

A) Ssec (csc 2X) +C *A) 3cot (sin 3X) +C
*B) Ssin (csc 2X) +C B) 3tan (sin 3X) +C
C) Scot (csc 2X) +C C) 3sin (sin 3X) +C
D) 5cos (csc 2X) +C D) 3sec (sin 3x) +C
3) f3sec 3xtan 3xsec? (sec 3X) dx; u=sec 3x 4) fZOSin —4xsin (cos —4X) dx; u=cos—4x
A) cot (sec 3X) +C A) —5csc (cos —4x) +C
B) cos (sec 3X) +C B) —5Stan (cos —4x) +C
*C) tan (sec 3X) +C C) —5sec (cos —4X) +C
D) sin (sec 3X) +C *D) —5cos (cos —4X) +C
5) f—6cos 2Xcos (sin 2X) dx; u=sin2x 6) f6sec 2Xtan 2Xcsc (sec 2X) dx; u=sec 2x
A) —3csc (sin 2X) +C A) 3In |sec (sec 2X) + tan (sec 2X)i +C
B) —3cot (sin 2X) +C *B) 31n icsc (sec 2x) — cot (sec 2X)| +C
*C) ~3sin (sin 2x) + C C) 3sin (sec 2x) + C
D) —3tan (sin 2x)+C D) 3sec (sec 2X) +C
7) f—Zcos —2Xsec (sin —2X) dx; u=sin-2x 8) f—lSsecz 5xtan (tan SX) dx; u=tan 5x
A) sec (sin —2X) +C A) —3tan (tan SX) +C
B) csc (sin —2X) +C B) —3csc (tan SX) +C
C) In |sec (sin —ZX)i +C C) -3In isec (tan SX) + tan (tan 5X)| +C
*D) In |sec (sin —2X) + tan (sin —2X)| +C *D) —=3In |sec (tan 5X)| +C
9) f—lScch —3xtan (cot —3x) dx; U= cot —3X 10) f—6csc2 —2Xcsc (cot —2X) dx; u=cot—-2x
*A) —=5In isec (cot -3 X)| +C *A) =3In |csc (cot —2X) — cot (cot —2X)| +C
B) —5cot (cot -3 X) +C B) —3sin (cot —2X) +C
C) —5In |sin (cot —3X)i +C C) 3In isec (cot —2X) + tan (cot —2X)| +C
D) —5In isec (cot -3 x) + tan (cot —3x)| +C D) —3cot (cot —2X) +C
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3cos —3xsin (sin —3x
11) f—- cos ~3xsin (sin )dx;LJ=sh1—3x

cos’ (sin -3 x)
sin -3 X) +C
sin -3 X)
sin —3 X)
sin -3 X)

A) sin
*B) sec
C) csc
D) tan

10sec —5xtan —5X
13) f— > an dx; u=sec —5x

sin® (sec -5 X)
*A) —2cot (sec -5 X) +C
B) —2cos (sec —SX) +C
C) —2sec (sec -5 X) +
D) —2sin (sec -5 X) +

2
15) IM dx; u=cot—x
sec (cot —X)
A) Ssec (cot X)
B) Stan (cot X)
C) 5cos (cot X) C
*D) Ssin (cot X)

10csc” —2x
17) f—L dx; u=cot-2x
cos (cot —2x)

A) —5sin (cot —2x) +C

*B) —51In |sec (cot —2X) + tan (cot —2X)| +C
C) —5Scsc (cot —2X) +C
D) —5tan (cot —2x) +C

2c¢sc Xcot X
19 fid)(; u=csc X

sin (csc X)
A) —2sec (csc X) +C
*B) —21In |csc (csc X) — cot (csc X)( +C
C) 2In |sec (csc X) + tan (csc X)( +C
D) —2In (sec (csc X)| +C
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dx; u=csc—-2x

2csc —2Xcot —2X
12) |-
) f sin’ (csc —2X)
A) tan (csc —2X) +C
B) csc (csc 2X)
)+

C) cos (csc -2X

C
*D) cot (csc —2X) +C

14) f_—SCS(; —Xcot =X dx; u=csc—Xx
sin (csc —X)
A) Ssec (csc —X) +C
B) Scsc (csc —X) +C
C) Stan (csc —X) +
*D) Scot (csc —X) +

4csc? 4x
16) f—L dx; u=cot 4x
sin (cot 4X)

A) sec (cot 4X) +C

*B) In |csc (cot 4X) — cot (cot 4X)| +C
C) In |sin (cot 4X)| +C
D) sin (cot 4x) +C

6sec —2Xtan —2X
18 f— i an dx; u=sec —2x

cos (sec —2X)
A) 3In |sin (sec —2X)| +C
*B) 3In |sec (sec —2X) + tan (sec —2X)| +C
C) 3In (sec (sec —2X)| +C
D) 3sin (sec —2X) +C

dx; u=sec —3x

20 f_ 3sec —3xtan —3X
sin (sec -3 X)
A) csc (sec -3 X) +C
*B) In |csc (sec —3X) — cot (sec —3X)( +C
C) sin (sec -3 X) +C
D) In (sin (sec —3X)| +C

-
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